3%21 ATEMBIRS — AR BREREE S REENT

1R (—)

ANS

1 b 2 B 3 A 4 D 5 C 6 C 7 D 8 C 9 C 10 C

11 C 12 B 13 B 14 D 15 D 16 C 17 C 18 A 19 C 20 B

21 € 22 B 23 C 24 D 25 C

BRAT -
13.1MB = 1024 x 1024 x 8 bits
(1024 x 1024 x 8) / (800 x 600)= 17 bits A[FH B 217(65536 ¢ = 216) -

REEAE (Z)

ANS

1 ¢ 2 b 3 A 4 D 5 C 6 C 7 C & B 9 C 10 B

11 B 12 C 13 C€C 14 A 15 D 16 B 17 D 18 C 19 C 20 D

21 D 22 A 23 B 24 B 25 D

R
7. TR E 0 x=7 > y=6 > s=9 » xty+s=22 °

REHE (=)

ANS

1 ¢ 2 C€C 3 B . 4 A 5 C 6 A 7 A 8 C 9 A 10 A

11 D 12 13D 14 A 15 B 16 B 17 C 18 D 19 C 20 B

w

21 € 22 B 23 B 24 A 25 C

BT
1.(A) 1 | EEHEHY BD Sthif R 58 K 25GB -
(B) 5 F B HEE B DVD SLHE S A58 B 5%8.5GB=42.5 GB
(C) 80 B CD Y:hEH 75 8 £5(80x650MB)/1024 = 50.7 GB
(D) 2 F e E G DVD S¢hE R 58 & 2x17GB=34 GB °

7.\ HUPHE
k Sum
10 0
5 1
2 2
1 3
0 4
21.
a b i ] EH a b i j ENIG
3 3 4 *
2 4 1 1 * 1 5 1 1 *
2 * 2 *
3 * 3 *
4 * 4 *
2 1 * 5 *
2 * 0 6
3 *

22.15.5\2.5+2570.5 * (10 +"2") —20.3 Mod 4.7
=16\2+5*(12)- 1.5
=8+60—15=66.5 ¢
XEEE RIS ERAEN - VB & B 8k R EEE R » fla1 10+"2" =12 -

REEE (1)

ANS

1 B 2 B 3 A 4 C 5 B 6 B 7 B & B 9 D 10 B

11 A 12 A 13 D 14 A 15 C 16 D 17 D 18 B 19 B 20 D

21 B 22 C 23 D 24 D 25 A

BT

2. e R EHEZE RO PR R R VB B A R - 2°=27x2%0=2% » x=33 -

4. (AL EFEs(MAR) B (7 CPU ZAFHIAYE R4 -
(B)HF AR E D B R - T T 1 {EIFF IR 78 B HSF Pl B BRIk 2B (Clock
Period)

» BIRFARIAAR O Ry (818 -

D)L RAEGRER -

8.0<=Int(Rnd()*26)<=25 > 6<=Int(Rnd()*26)+6<=31 -



9.VB EIfE=(E A HYE FILO(YLHER HAY B ERIEE -
10.5[% a > c BRAFUEIEIY > 5% b SREEMP > SHE{E a=6 > b=3 > =3 » d=atbtc=12
15. Choose(Mid("4321", 2, 1), Strings.Right("abcd", 2), UCase("abcd"), Chr(Asc("abcd")), Len("abed")))
= Choose(Mid(3, "cd", "abced", "a", 4) ="a"
16. F(4) = F(3)xF(2) = FQ)xF(1)x(2+1) = 2+1)x(1+1)x3 =18 -
18.512MB = 29x210x210x23 = 232 bjts o
25.*.psd : Photoshop ~ *.ufo : Photolmpact ~ *.cdr : CoreIDRAW o

RHEHE (1)

ANS

1 D 2 C 3 A 4D 5D 6D 7 A 8 B 9 B 10 C
i1 B 12 C 13 C 14 C 15 C 16 D 17 B 18 B 19 D 2 A

21 D 22 B 23 B 24 B 25 A

AT |
5. R R ROEHERR AR > R a()<a(+ DIFEEHAER] » FrLLEHORIBHET » B a(1)=6 -
12. (A)—HERr % 11000011 = 128+64+2+1 = (7% 195
(B)T/NAE(L &L C3 = 12x16+3 = |-H#E{r 8 195
(C)/\AE( &Y 603 = 6x64+3 = ~[HEfirH 387
(D)VUHERT £ 3003 = 3x64+3 = |78 195 -
15.1024x768%(24/8)Bytes =2.25 MB -
17. —{#l = ¥215:F 15 3Bytes » JFA A FEFIR R =By 16G / (4096x3072x3)=455.1 » FrLABR4EEL £y
455.1:4096 ~ 1:9 -
18. (1280x1024x32) / (8x1024x1024) = 4.6875 MB -
19. (4GB) / (1280x1024x3 Bytes) = (4x1024x1024x1024) / (1280x1024x3) = 1092.26 -
20. (A)4544x3408=15485952 F R HET H AL 16M HIFEATFE -

= E (717)
ANS
1 D 2 C 3B 4C 5D 6A 7B 8 C 9 B 10 A

11 b 12 C€C 13 B 14 B 15 C 16 A 17 C 18 D 19 B 20 D

21 € 22 D 23 D 24 C 25 D

AT -
3. (75Mx8)/1M =600 F
10.(5/2 > 5\2) OR ("DOG" >"CAT") = (2.5>2) ORF=TORF=T -
16.200 ns =200 x 10°ms =2 x 10 ms °

18.
X Y A B G L
100 62 100 62 0 0
38 24
14 10
4 6
4 2
2 2 2 3100
24 FHI 2 AR -

(1)Dim Final As String— EHg £ : Dim Final as Single
(2)Fori=3To 1>IEHER : Fori=1t03

RHHE ()

ANS

1 D 2 C 3D 4D 5B 6 A 7D 8B 9 A 10 A
11 B 12 B 13 D 14 A 15 A 16 A 17 B 18 C 19 C 20 A

21 € 22 B 23 A 24 B 25 B

BT -
9.1=0~2~4~6...50 » (T 26 20> & =2~ 12~ 22~ 32 ~ 42 BF > IMod 10=2 » E#{T N=N+1 4§
it 5 20 FTll N=N-1 gt &7 26-5=21 2 > #f N=-21+5=-16 o
18.0pen Office /&5 [5(Sun)/A E]FA#EH KA —EH{EL MS Office HYHFAEFG#EE > v LUFEHE
Linux {E3EZ4 » A ATLAE Windows ESTTHVRCA » EFR T2 freeware §f » F[5(sun) A F]H
PRI AT T R RS -

24,
k S
0 0
1 1
2 3
3 6
4 10
5 15




R E ()

ANS

1 C 2 A 3 D 4 B 5 B 6 B 7 B 8§ B 9 A 10
11 A 12 B 13 D 14 C 15 D 16 B 17 A 18 D 19 C 20 B
21 A 22 B 23 A 24 B 25 B

BT

1. (B)<FONT>fR&FRRICE HIR - Fr LABEIH thight/ D </FONT>EL 7 i #f
(D)EREHUEE R B E. . FOERFERY - . MR IR | " B G AT AR -
4. (A)<FONT>f14 )25 ALIGN (¥175) &t
Og# HARERNEER. . KNEIL | S S E PR -

24.h =158 > w=((h-150)*7)\10 = ((158-150)*7)\10 = 56\10 = 5 > R &rfT Case Is <6 MY

22.
K 6 18 38 68
S 1 2 3 4 5
?Lﬂ_i‘_ o
25.
k A [E51]
1 A(l)=k+1=2
2 AQQ)=k+2=4
3 AQ)=k+1=4
4 A(d)=k+2=6
15 A(15)=k+1=16

BHAE ()

ANS
1 B 2 A 3 D 4 D 5 A 6 A 7 A 8 B 9 A 10 D
11 ¢ 12 D 13 C 14 B 15 C 16 A 17 C 18 A 19 B 20 C
21 A 22 C 23 A 24 B 25 A
BRAT -

10.5 {EE TR RBPER AR LRI R 5x(5-1)/2=10 -
WIESE PR B B+ 1,3,5,8,9 0 (R 1= A 3 R 3 RI(E—BE& R S 56

ZEER D B=MEEE3) -

Tt LSRR 1043=13 [4] -

15.
X 1 3 5 7 9 11
Yy 1313 51 3 5 713 5 7 9 13 5 7 911
S 1 25 6 9 14 1518 23 30 3134 39 46 55
23.
(B) ©) (D)
1 S i S i S
2 0 2 0 2 0
4 0+2
6 0+2+4
98 0+2+4+...496
100 0+2+4+...+98
25.
i 10 7 4 1 2
a 10 11 12 12 12 12
b 5 5 5 5 5 5
atb+i=12+5-2=15 -
EESE (1)
ANS
1 C 2 D 3 B 4 5 D 6 A 7 B 8 A 9 C 10 B
1 A 12 A 13 B 14 C 15 16 € 17 B 18 B 19 C 20 B
21 A 22 B 23 C 24 25 B
BRAT

4. HlEht] © A2 >B-2*ANC > FEIGHEEERE
402 > 50-2%4"2 — 16> 50-2*16 — 16 > 50-32 — 16 > 18 » 455y False - #I7 B ToaL C -
15 B RECIEAG EHE 22T By 2 /Y 32 XKT7 » Z5)t 4GB -
20. BERE b Ry EEIPY - (R b=4 A8
Strings.Left (" Visual Basic",4)="Visu" °

21.

Sum k
0 1
3 3
6 5

» a=x=3*Math.sqrt(36)=18 - Int(a/b)=Int(18/4)=4 >

24.

el Roy

ik Wi

—_—
w




6 18

25.a(2,2) =2 x 2 =4 ${T Case 2 To 4 HJELHL MsgBox("two") °



